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i} General Awareness

Bimbisara and Ajathasatru were the

patrons of
{A) Shaivism (B) Vaishnavism
(C) Jainism (D) None ofthese

Shankaracharya brought forward the
dactring of

{A) Dwaltha

(B) Advaitha

(C) Vishistadwaitha

(D) Lingayatism

In his firsl invasion, in
Mahmud of Ghazni
Jaya Pala by atlacking
Hindushahi Kingdom.

(A} 1001 A.D. (B) 1011 A.D.
(C) 100§ A.D. (D} 1008 A.D.

Taj Mahal is a white marble
mausoleum located in Agra was built
by Mughal amperor Shahjahan in

defeated
the

memaory of his wife Mumtaz
Mahal.

{A) First (B} Second
(G} Third (D} Fourth

Kaniska the Greal who was a
Turushka emperor of
dynastly, encouraged Gandhara
School of Greco-Buddhist Art.

{A) Kosala

(B) Kushan

(C)} Maurya

(D) MNone of these

First of the ten Sikh Gurus, is
the founder of Sikhism.

(A) Guru Nanak

(B) Siddharth

{C) Vishnuvardhan

(D} Jail Singh

7.

10.

11.

12.

The navigator claimed the ea
coast of Australia for Britain in 1770
Without conducting negotiations w
the exisling inhabitanis.
(&) David Cook

(B) Thomas Cook

(C) George Cook

(D) James Cook

There are ___continents in
Word including North America a
South America,

(A) 7 {B) 6

{C) 5 (D) B

Oxygen was initially discovered b
in 1772, Then Josep

Priestly also discovered it two yas

later and spread the news.

{A) Carl Wilhelm Scheala

(B) Thomas Edison

(C) Albert Einstein

{0} Mone of these

Laughing gas is

{A) MNitrogen Peroxide
{B}) Nitrogen Pentoxide
(C} Nitrous Oxide

(D) Mitric Oxde

The host city of the 201
Commonwealth Games 15
(&) Glasco (B) Glasgow
(C) Glasko (D) Moneof

Period of First Five Year Plan
Government of India was
(A) 1951-1958 (B) 1950-19
(C) 1951-1855 (D) 1952-195
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13.

14.

15,

16.

17.

18.

19.

A*

One ol the major causes of the
outbreak of Second World War was
(A} Franch Revelution

(B) Industrial Revolution

(C) Treaty of Versailles

(D) Lisbon Treaty

Who is the Ex-officio Chairman of the
Pranning Commisston of Government
of India ?

(A} Prime Ministar

(B) Finance Minister

(C) President of India

(D) Law Minister

Durand cup is associated with
(A) Badminton  (B) Cricket
(C) Tennis (D) Football

UnMed Nations Organisation was
born on

(A) Dec. 24, 1945

(B) Jan. 26, 1850

(C) Oct. 24,1945

(D) Aug. 15, 1947

Total number of member countries of
UMD is
(A} 180
(C) 185

(B) 191
(D) 193

Soda water is an example for
type of solution.

(A} Gas in liquid

(B) Gas in solid

(C) Liquid In solid

(D) Mone of thess

A device for detecting the presence
of underwater objecis such as
submarines is called

(A) Radar (B) Solar

(C) Polar (D} Sonar

20.

21.

23.

24,

25,

| 0 0

One of the salts causing
permanent hardness in the water
(A) Ammonium chioride
(B} Sodium lodide

(C) Calcium sulphate
(D) Carbon dioxide

Graphite |s used as
control the nuclear reactien in
nuclear reactor,

{(A) Moderator (B) Catalyst
(C) Modulator (D) None of
A device which converts mecha

energy into electrical energy is ca
(A) generalor (B} motor
(C) ammeter (D) dynama

Mame the scientist who discovers
method of immunising man ags
smallpox.

(A) Alfred Jennar
(B} Edward Jenner
(C) Wilired Jennar
(D) Nona of these

Who discovered the Panig
Notatum 7

(A) Alfred Fleming

(B} William Fleming
(Cy} David Fleming

(D) None of these

One of the surgical methods of f2
planning is

(A) Lasectomy (B) Masat
Expansion of VAT is

(A) Variable Additional Tax
(B) Variety Added Tax
(C) Value Added Tax
(D) None of these
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27. Chemical formula for commaon salt is
(A) MnO., (B) MNaCl,
(C} KCI (D) MNaCl

The famous Kailasanath temple al
Ellora was built by
(A} Krishna — |
(C) Keshava—|

The name of religion established by
Akbar was

(A} Bin-lllahi
{C) Din-Biliahi

28.

(B) Kalinga— |
(D) Maone of these

29,

B) Din-Villahi
(D) Din-E-lllahi

Mr. Marendra Modl took cath on
May 26, 2014 as country's
Prime Minister,
(A) 14"

1h
({C) 16 A

Telangana is the
India.

(A} 2y

f‘:} aglh

30.

(B) 15%
(D) Mone of these

31, State of

Eﬂlh
Mare of these

(B]
(o)

has become the Speaker of
the 16" Lok Sabha.
{A} Sumathi Mahajan
(B) Sushma Swaraj
(C) Sushma Mahajan
(D) Sumitra Mahajan

ISRO's PSLV-C 23 successiully put
5 foreign satellites into orbit at the
ISAO's spaceport in on
June 30, 2014,

{A) Sriharikota

{B) Hassan

{CY  Thiruvananthapuram

33.

35,

38,

(D) Vishakapalanam

40.

MCA Chairman recently annound
that Narmada Dam got the appre

to raisea its height by miel
(A) 15 B) 18
{C) 17 (D) 18
MDA means

(A) Mafional Directors Alliance
(B} Mominal Democratic Allianc
(C) Mational Divisional Alliance
(D) National Democratic Allianc

The winner of the 581 Fil
Awards 2012 in the Besl |
category was

iA) Barfil (B) Kahas
{C) Vicky Donor (D) Lagass

Along with Sachin Tendulkar,
was presenied with Bharat R
(2013) on 26" Jan, 2014.
(A} Profl. P.N. R. Rao
(B} Prol.C. N, R. Rag
{C} Prof.C. M. R, Rao
{D) Prof. K. N. R Rao

"Ongin of Species” is wntten b

(A) Mendel (B} Abdul
(G} Muller (D) Darwi
Kathakkali is a form of dance
mainly in

(A) Karnataka

(B} Tamil Nadu

(C) Kerala

(D) Andhra Pradesh

The captain of the Indian cricke

which wan Warld Cup in 1283
{A) Kapil Dav

(B) Azaruddin

iC) Abhinav Bindra
(D) Sachin Tendulkar
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ii) General Intelligence and Reasoning Ability

Directions (s 41 and 42) : Select the
related word which cannot be formad using
the letters of the given ward.

a1

4z

43

&4,

45.

MISAPPROPRIATION
(A) PERSON  (B) PORTION
(C) PRAPORTION (D) RAPPORT

CONGEPTUALIZATION
(A) TOTAL (B} PETAL
({C) ACTUAL (D) PATRON

8 +5=31and2 4 7 =61, what is
9+6="7

(A) 71
©) 4

i the word PROPER is written as
REPORP, then ANTHEM can be
writtan as

(A) MEHTAM (B} MEHANT

(C) MEHTNA () HEMANT

In a cerain code, DIPLOMAT is
writtan as TAOMLPDI. How will
PROSPECT be written in that code 7
(A} TCEPSORP
(B) TCPESOPR
{C) TCPEOQSRP
(D) TCEPSOPH

It '~ stands for* 3 ', '+" stands for "x ",
"' stands for'—" and = " stands for'+',
which one ol the following s comect 7
(8) 10x5:5+5-5=0

(B) 10+5-5+5x5=10

(C) 104+ x5+ 5=5

(D) 10-5+5,;5x5=25

(B) 51
(D) &1

Directions (Qs. 47 and 48) . Selec
missing number from the given respa

47. 8 6 1B 183
7 19 4 11
25 3 7 97
(A} 40
(B) 22
(C) 31
(B} 36

48. 3
2
4
24 80
(A) 13
(B} 45
(C) 80
(D) 14

P Coodn
-3 oW o
8w

49, Lekhana goes 30 km towards
from a fixed point. Then alter §
1o her right she goas 30 km, Afta
turning to her nght she goes 3
How far and in what direction
from the starting point 7
(A) B0 km West
(B} 30 km South
(C) B0 km East
(D) 30 km East

50, 11532+ 781 =26 and 862 + 920
what is the value of 7868 + 354
(A 31
(B) 34
(C) 30
(D) 26
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i1, In a cerain code if ANTEVIRUS is
written as 123456789, how can
SURVIVE be wrilten in the sama
code 7
(A} 9BT75654
“(C) DE756T4

(B) 4565789
(D) BE75654

In a certain code if ABSENT is writlen
as BCTFOU, how can PERSON be
~ written in that code 7
(A} QFSTOM

(B) QFSTPM

(C) QFSTPO

(D) QESTPO

rections (Qs. 53 and 54) : Select the one
vich i differant from the other three
SpONSes.

L]
33, 256, 144, 289, 195
(A) 144 (B) 289
(C) 256 (D) 195
3. FATHER, UNCLE, NIECE, NEPHEW
{A) NEFPHEW
(B) NIECE
(C) FATHER
{2y UNCLE
35, Which of the following pairs has the
same refationship as leg | walk 7
(A) eye:sae (B) play : swim
(C} read : write (D} rich : poor
56, Which letter will be the lenth 1o the

laft of the eighteenth lelter from the laft
and of the following letters ?
ABCDEFGHIJKLMNOPORSTUVWXYZ

(A) P (B) ¥
{C) A @) H

g7.

59.

Age of Charithra's father today Is three
times as that of her age. Ten years
ago, the age of her lather was five
times thal of her age. Whal is

Charithra's age today 7
(A) 10 yrs. (B} 15yrs.
{C} 20 yrs. (DY 25yrs.

MNaveen ranks 31¥ in a class of 51.
What is his rank from the last 7

(A) 20 (B) 21
(C) 30 (D) 26

Arrange the following words as per
ardar In the diclionary.

1) COMMIT
2} COMMAND
3) COMMANT
4) COMMENT
(A) 2,3,1,4
(B) 1,2 3,4
(C) 2.8,4.1
B 2.1,3,4

Arrange the following words as per
order in the dictionary,
1) CONCERN

2) CONNECT

3) CONDUCT

4) CONCEIVE
(A) 4.1,3,2
(B) 4,2,3,1
Cr 1,4,2,3
(D) 2.8.4.1
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61. The meaningful order of the following
responses would be
1} Maother
2) Marriage
3) Grandmother
4} Concaive
(A} 1.2,84
By 2.1,4,3
(C) 2.4,1,3
(D) 2.4,3,1

Directions (Qs. B2 1o 65) - Choose the
correct alternative from the given ones that
will complete the senes.

62. E, G K 7,00
(A) L 4
(B) M
(C) P
D} N

83. 4,9 18,7, 36, 49
(&) 20
(B) 23
©) 21
(D) 25

64, 1,3.7.16,.31, 7,127
(A) B2
{B) 60
(C) 63
(D) B5

65. 1,2,4,7,11,7,22,29
(A) 13 (B) 18
{C} 15 (D) 20

Directions (Qs. 66 o 70) : Find the odd
word/number/group from
responses.

B6.

67

70.

Tt

A4

the qgiven

(A] Jumping
(B) Swimming
{C} Breathing
(DY Running

(A) old - naw

(B} ancienl — modam
(C) shallow — deep
(D) calm — quiet

(A) YARD
(B) RUPEE
(C) INCH

(D) METRE

(A) NET
(B) VIOLET
(C) BLACK
(D) RED

(A) YAMUNA
(B) NARMADA
{C) TELANGAMNA
(D) GANGA

Which of the lollowing pairs of words
given below has the sama relationship
as CANVAS ;: PAINTER ?

(A) LEATHER : SHOE
(B) MARBELE : SCULPTOR
(C) CHISEL : WOOD

(D) HAMMER : DRIVER
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T2

74,

7o.

A

In the given number serigs, how
many instances are thera wherain
the sum of the Iwo consecutive
numbers is 10 ?

2 7.1.3,5:2,6,7,4,1,532,9.4
(A) Nil (B) 2

(C) 1 (D) More than 2

In the telephone directary which of the
following names will appear in tha
middie among themsalves ?

1) RAJRATNAM

2) RAJRATHANAM

3) RAJRATHMAM

4) RAJRATANAM

5) RAAJRATHNRAM

(A) 5l (B) ard
(C) -2 (D) st

B, 27,727,125

(A) 35

(B) 50
(C) 64
(D) B1

Five boys are so standing that they
form a circle. All of them are facing
the center of that circle. Ajay Is
between Ramesh and Dominic,
Soloman s 1o the lefl of Babu.
Ramesh is to the left of Soloman. Who
Is to the right of Ajay 7

(A} Dominic

(B) Babu

(C) Soloman

(D} Ramesh

[i: 8

78,

It we substitute numbers 1 to 12
indicating hours on the dial of a clock
by letters of the alphabet in their order
slarting with C, which letter would
represent 8 7
(A) J

(C) L

Sandeep and Raju are ranked 13
and 14" respectively in a class of 23.
What is their respective ranks lrom the
last ?

(A} 10™ and 11t

(8} 11" and 12t

(C) 11" and 10M

(D) 9% and 10"

(B) K
(o) |

Which of the following pairs has the
same relationship as WATER : SWIM ?
(A) PLAN : IMPLEMENT

(B) GRAZE : GRASS

(C) DAMAGE : FLOOD

(D) GROUND : PLAY

Choosze the ona which does nol |
belong to the group.
(A) Father
(€} Uncle

(B)
(D)

Muother
Brother

[ ] L}

if “+" means “:', = means '+, 'x
means -', ';" meangs 'w', then
B:4-B+3Ax4="7

(A} 33

(B) 80

(C) 30

(D} 13
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81.

B2.

B3

85.

a7.

iii) Arithmetical and Numerical Ability

When 'n’ is divided by 5, the
remainder ks 2. Whal ks the remainder
when ‘'n® is divided by 5 ?
[A) 2 (B) 4
(C) 3 (D 1

It the cost prica of 15 articles is equal
to the selling price of 12 articles, find

the percentage of gain.
|A) 15 (B) 20
(C) 25 D) 30

The ratio bedween two numbers is 2: 3,
If @ach number is increased by 4, the
ratic between them becomes 5:7. The
differance between the numbers is
{A) B (B) 2

(C) 6 (D} 4

The geomeatric mean between 4 and
16168
(A) 8
(C) 10

The sum of iwo numbers is 5 and
their product is 6. The sum of their

(B) 12
D) &

sguares Is
{A) 30 (B) 81
(C) 36 (DY 13

By what least number 80 be
multipied to obtain a number which
is a perfect square 7

(A} B (B) 10

(C) 12 D) 15
x.y=4:5thenSx+3y: 10x+2y =7
(A) 5:3 (B) 10:7

(C) 7:10 (D) 3:2

88.

80,

20.

g1.

2.

93,

(0.7 =07 x07-08x06x0.

(0.7%0.7+0.7 x 0.6+ 0.6 % 0.6)
(A 1.1 (B) 0.1

() 1.3 D) 1

-u|'3_+ J50 =7

(A) .2 (B) &z
(T} &z (D) faz

From a wire of 11 cm langth,
many rings of 0.7 cm diameter can

made 7
(A) 10 (B) 5
({C) 15 (0} 6
s P
LEEE_E!EF]+l ?—5]2?
5 3 & 8)J\& B
1 3
(A) 2 ®) 3
2
© ¢ (o) 1

valug T 100 is ¥ 95. How many
these shares can be purchased |

investing ¥ 38,000 7
(A) 400 (B) 40
(C} 300 (D) 200

What will be the compound inters
for T 50,000 for 2 years al the
10% 7

(A) 10,000
(C) 10,500

(B) ¥5,000
(D) T 15,000
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84,

97.

The average age of 29 students of a
class was 13 years. When a naw boy
was admitted, their average age
became 13,1 years. What was the age
of the new boy 7

(A} 14 years

(B) 18 years

(C) 15 years

(D) Mone of thesa

Median of 5, 7, 11,17, 9, 15, 2, 23
and 19 is
{A) 89
[C) 15

(8) 17
(D) 11

1

=1
a2

1 2
fa+—=2a%+
a

(A) 4
(C) 0

(B} 2
A D) B

al =7
(A) a
(B} D
(C) 1
(D) Nona of these

An article is marked for 7 1,300 and
15 s0ld for T 1,144, Find the discount

percent.
(A) 12% (B} 13%
(C) 11% (D) 14%

Two numbers are respectivaly 10%
and 25% maore than the third number.
What percent is the first of the second 7
(A) B0% (B) BB8%
(C) B5% D) 75%

100,

101,

102.

103.

104,

ORE RV A

Tha L.C.M. of wo numbers is 2079
and their H.C.F. {s 27. I one of the
number is 189, find the other,
(A) 217 (B) 237
(C) 257 (D) 297

The smallest number which when
divided by 42 and 54 leaves the
remainders 34 and 46 respectivaly |s
(A) 360 (B) 370
{C) 380 (D) 390

8 20
—an —
H.C.F. of s = s

4 40
W z ® 2
4 12
o= l' s
© = o) 2

The area of a square field is
236100 sgq.m. Find the cost of fencing
it al the rate of T 200 per matra,

(A} ¥52,000

(8] ¥ 76,000

(C) T1.42,000

(D} ¥1.52.000

The length' and breadih of a
rectangular field are 100 mand 86 m
respectively, The radius and length
{height) of & eylindncal roller are
0.7 mand 1.5 m respectively. How
many revolutions ol this roller are
necassary 1o level this field ?

(&) 100 (B} 1000

{C) 500 (D) 200
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105.

106, -

107,

Raju travellad from Ato B atl a speed
of 40 km'hr and returned rom B 1o A
al a spead aof 50 kmvhr, Find the
averape speed of s total joumay
(A} 45 kemfhr

4
B} 45— wm/h
({=)] 53 m'hr

|
5]

(C) 44— km'h

(0} MNone of (hdse

John travelled from A a distance of
5 km towards South to B. From thare
he travelled 4 km towards East to C.
From thera he travelled 8 km towards
Marth to D. Find the distance from
AtoD

(A} 5km
(B 17 km
{C) 3km
(D) 4km

The ratio of the radh of two spheres is
3 5. Tha ratio of the volumes ol these
SpIEIEs 15

(A) B:16

B) 8:28

() 12:20

(D) 27:125

25 workers take 12 days to completa
a wark, How many workers are
necessary to complata the same work

in 10 days ¥
(&) 30 (B} 35
(C) 28 (D) 20

109,

110.

111.

112,

113

Out of B0 candidates who appeared
for @ combined test in English and
Hindi, 84 passed al least in one
subject if 45 passed in English and
52 passed in Hindi. How many
passed in bath the subjecls 7

1A} 17

{B) 33

() 29

(0} Cannot be calculated

Find the quarery interest on a sum
of 7 4,000 fixed deposit at 8% per
Annum,

(A) < 1.000

(B) ¥100

(C) 790

(D) Mone of thesa

Fromthe digits 5, 7, 3, 6,9 how many
two digit numbers can ba formed

{without repetition) 7
{A} 20
(C} 30

(B) 10
(D) 27

How many diagonais can be drawn
In an octagon ¥

(A) 20
(L1 8

(B) 28
(D) 18

The length of one side of a square is
G cm. The length of its diagonal is

{A) 8cm
{B) 10¢cm
(C) &3 cm

(D) gy2 cm




114,

118.

116

117.

Sum of the first 30 natural numbers is
(A) 800
(B) 450
(C) 465
(D) 545

Find the l=ast number to be
subitracted from 171 to make the
resultant a parfact square.

(A) 1

" (B) 2

) a
D) 4

386 workers, by working 5 hours a day
can complete a work in 12 days. How
many workers are necessary, who
work 6 hours a day, to complete the
same work in 18 days ?

(&) 20

(B) 22 »

(€) 26

(D) 24

A ; 1
Give the fraction equal to 1 EE %

(A}

L o

(8)

(G

rita =

(D}

£o | -

118,

118.

120.

IFA:B=3:4,B:C=83:5A:C="
{A) 3:56

B) 6 5

(C) 9:20

(D) 12:15

Three circles with centres A, B, C and
radil 3 cm, 4 cm &nd 4.5 cm
respectively touch each other
axtarnally, Find the perimater of
A ABC.

(A) 24cm

{(B) 23sg.cm

(C) 23 cm

(D) 28cm

A paerson casts two fair dice (with
numbers 1 to 6§ on their faces) once.
What is the probability that the total of
the numbaears thal appear on the top will
beb?

-+
A o

(B)

i | —a

b
12
() Mone of these

(G)
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iv} Test of Language : Hindi

) | A5, e e ¢ fe=
|TﬁﬁﬁW4T€i3ﬁwa—ﬁﬁﬂﬂ| 132, —Q-an:qiqlﬁ WWE|
W_ HEH TETE | (A) (8)
E ; (B) % (C) & (D)
(D) = 183, in yrea =T Feit wiee
. o wifien 3 i fEma | (A) 0f (B) 3
(A) =T (B) i () =R (D) 37
() = (D) = 134, g7 s w3
123. #t_ wemdmrenfo (A) & (B) =1
(A} (B} TR (Cy T D
(C) = (0) g
| 1y i 135. '25' =i fedt A A 8 |
124 ;: .;L__ il , (A) T=mE (B) T
(A) | (B) W (C) == (D) w=EH
U] % 54 136, ‘naw’ wifem
126, wnmﬂaﬁn I 2 | . {j;,,] HHTE' {EET TR
.I e
Eﬁ 1“ :g; ; Hl (C) neiA (D) e
S 137, 'HHZE IR ANETE R
126. HETE_ g = |
(A) A = (B) % ‘2’ mmﬁ; i
) 3 04 % B ( _} [ (D) =
127, difE TEE | b5 mq;—ﬁﬁmw'
(a) = ®) 28 Lo
c D) (C) = s}
128, Yol R arelt ot | 139, AN avigEiEdE S
) B (B) 3 A i
() Fam D) W (C) W o) ¥
(D) ;
120, WM oW g 40, TwUE_____ WA |
A) B @ () i
(C) W (D) Efﬁ () % (D) ™
190, 519 247 TR, | 1 W R
(A) # (B) # fom (A) = B) ¥
(C) o = {C) A (D) 9
131, ggq-jh  EHEHATE | 142. Eﬁq’ﬁ-?"[mﬂ__ raad |
(A) g (B) (A) 13 (B} “3
{C) W (D) H (C) 4 (D} Ye




O O
143 aﬂﬂﬁmﬂ___tﬂaﬁ |

(A} =1 (B) i
(C) f& (D) %*
144, Semlt_ wrimd |
(A) (B)
(C) & (D) =i
145, TR 77 =1 qfeT &y
(A) 7T (B) &=
(C) dm (D) &
148. w9’ w1 o Wyt v
(A) & (B) Tt
(C) =2 (D) w3

147, T 152 W A wy

(A) wfz (B) #nfiyi

(C) Wt (D) =1
148, mmﬂﬁ'ﬁmﬂw

(A) wERTS (B) ¥

(C) wgw (D) et
149, nwrfn____nﬁrria

(A) = (B) A

(C) m (D) &
150. RLL LU [ v 3

(a) & (B) i

(Cy A (D} =
151, SER__

(A) # (B) =

C) & {0y @

152, 'am'mm‘rﬁﬁnﬂw

(A) FffEn (B) ¥yFE

(C) 3 (D) 3usnw
153, Py’ wms @ el e

(&) fmn (B) firz

(C) fomss (D) foreefy
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154, “H-21.mgme Er HETE T e
(A) 2 e (B) wrarz

(C) &% 57 3 (D) W Em
155, &iv' yma HUT e

(A) Tl (B) g

(C) = (D)

Freafefiaa AT T 30 T st T H
r

ﬂ%ﬁ'ﬂ%ﬁﬂmmﬁmﬂuﬁ@méﬂ?ﬁra
ﬁ‘rqr.éﬁ‘rﬁmﬁﬁuamfﬂa-agn | 59 92 97 3R
i1 2T e e oy | e =
nﬁwﬂ?ﬁqummwmﬂaqwgqn#ﬁﬁ#mﬁ
Hﬁﬁﬁ?ﬂl‘ﬂn#laﬁm{maﬁmﬁmr
wwmﬁ'ﬁmﬁﬁmﬁm{ﬁmmmaﬂ
ﬁ!mﬁﬁﬁﬁﬁmrﬁmiﬁmﬁaﬁmﬂ
Hﬂ#ﬂmmwmﬁamﬁmr
156. ﬁr&mmmnrmiﬁam‘téﬂ

(A) P (B} Hmep

() W=z (D) fg

167 v 3 g 5% = iy $5fifmr

Te W e an) 7 ol a7

)\ R (B) giy
(C) (D) &

188 HEREN frve 5 fin e Fg
f 7
(A} Fafifem B) e
(€)= (0} EemaTd

159, RrEwammn d sih AT & HAEARE T
T /] I9097 T i

(A} aam (B) #meq
(C} ®mA (D) =gy
160. IEAF gyl T W
AT T 3 gy |
[A) & (B) &

(C) & (DY =

—l-‘

=
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v} Test of Language : English
T TEHRTOT ST

Directions (Os. 161 to 163} : In these
guestions, a senlence has been given in
Direct/Indirect form. Cut of the four
altarnatives suggested, salect the one which

Directions {QOs. 164 to 166) - In these
quastions, a senlence has been glven In
Active Voice. Out of the four aitematives
suggested, selact the oane which best

bast expréesses the same senlence in expresses the same sentence in Passive

Indirmct/Diract form Voice.
181 Sripriya inld my brother, "1 will mesl 164. An American sclentist has won the
you in your office.” Nobel Prize for Physics.
(A) Sripriya told my brolher that she (A} The Nobel Prize for Physics has
would meaat him in her office been won by an Amencan sclentlst
(B} Sripriva tokd my brother that ha will (B) The Mobel Prize has bean won by
maat her in har office an American soientisl
(C) Sripriva told my brother that | would {C) The Nobel Physics Prize has been
meel you in your office won by an Amarican scienfis
(D) Sripnya told my brother that she (D) Thea Nabel Prize for Physics is won

would meal him In his office by an American sciantis!

162, Shesaid, "l s somy, | did not wrile.” 165. Children are playing the aricket match.

{A) Sheapologised and added that she (A) Tha cricket match are ptayed by the
was sorry, she had nol written children
(B) She apologised for | did not write (B) The cncket match are being played
(C) She apologised she 1S sorry, she by the children
didd not write {C) The crickel matech Is baing played

by the children
The cricket match ware being
played by the children

(0} She apologised she |s somry, she
had not written (D)

163. The policeman told the students, Do

not park your vehicles hers."

(&) The policernan asked the students
nol to park his vehicle hera

(B) The pollcaman asked the students
not park your vehicle here

(C) The policeman asked the students (C)
nol 1o park their vehicles here

166, He had completed the work.

(A) The work was completed by him
{B}) The work had been complated by
him

The work has bean completed by

hirm

(D) The policeman asked the sludents
riol to park their vehicles thera (D)

The work is complatad by him




———

Directions (5. 167 f© 169) ; In these
» guestons, a senfence/a parl of the sentence
is underlined to which altematives (A), (B} and
(C) are given balow which may mprove the
sentenca. Choose the correct altemnative. Ifno
Improvement is neaded, your answer ig (D),

167. The saint said that men are mortal,
{A) Said thal men Is mortal

(B} Advised men are mortal
({C] Said that men were mortal

(D} No improvament

168. There is no gscape in the container
tor the water 1o llow.
(A) Outlet
(B) Inlst
(C) Drainage
(D} Mo improvament

168. She prefers toa than coffes,
(A} Tealrom
(B) Teato
(C) Tea over

(D) Mo impravemant

Directions (Os. 17010 174) - Read the given
passage carelully and choose the best
answer o each question out of the four
alternatives.

Two bike-borne youths snatched a gold
chain warth Hs, 60,000 from a 35 years ald
homemaker in Salt Lake on Thursday
merming. Around 7.30 am. at B.G, Block,
Keshtopur resident Sujatha Dey was walking

Ak
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home after dropping her son in school when
the youths, wearing full mask helmets that
coverad their faces, snalched the chain from
behind and sped away. She ran for a
distance chasing them, but scon they look a
sharp furn and she los! them. She dialled 100,
the police heipline, from her cell phone.

170. 'Homemaker is a synonym of !
(A) Housewife '
(B) Servam
{C) Construction worker
(D) None of these

o~

171. The Homemaker stayed in
(A) Bangalore
(B) Salt Lake
(C) Kashtopur
(D) MNone of these

172. The thieves were chased by
(A} The residents
(B) Police
(C) Sujatha's son
(D) Sujatha Dey alone

173. Why could Sujatha Dey not identify
the thievas 7 ;
(A} Because they sped away fasl
(B} Because they wore full mask
helmels
(C} Because they were on a bike

(D) Because she was not interested
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174.  Why did Sujatha Dey dial 100 7 181, EMULATE
(A} She wanted lo know the lime of the (A} Enable
incident {(B) Elament
(B) Sha got a call from that number (C) Trying to do as well
(C] To lodge a complaint with the (D) Likely to be late
polics 182, ACCESS

(D} She was afrald of police

) (A} Angle
Directions (Os. 175 1o 179) . In these (B) Reach
questions some parts of the sentences have (C}) Debate

errars and some are correcl. Find out which
part of a sentence has an error, If there is no (D) Break
arror, then choose (D) as your answer,

183, LEAF
175, | have been (A)/working In this (A Sleep
organisation {B)/since three years. (C)/
Mo error (D) (B} Bleach
176. Neither of the two (A} Candidales FE} Jump
have (B)/paid his subscription. (CYNa (B) Leave

arror :Q}

Direclions (Qs. 184 to 186) : In these
177, Myuncle forced (A)/ my friend and | (BY : A
lo stay back, (C)/ No error (D) guestions out of fhe four alternatives choose

the comrectly spealt word.
178. Familles consume more energy (AY
far cocking as (B)/their income lavels 184. (A) Foreiner

increase. (C)/No arror (D) (B} Foriegon

179. There has been (A)a number of (C) Foreinor
railway accidents (BYduring the last

month. (C)/No error (D) (D} Faoreigner

Directions (Qs. 180 o 183) : In thesa | 155 (A) Character

questions, out of tha four alternatives choose (B) Charectar
the cne which best expresses the meaning (C} Charactor
of thie ﬂ-llﬂ'ﬂﬂ word. “]-j ﬂhare.ﬂ"ar

180. ERADICATE
{A) Eliminate
(B) Dedicata
(C) Indicate
(D} Complicate

186, (A) Improviment
(B) Improvement
(C) Improvmant
(D) Improvemant




Directions ((s. 187 to 190) : Fill in the blank
with the appropriate word chosen from the
allernatives.

187, Why don't you sit ma:?
(A) next (B} along
(C) beside (D) closa

188. Two busses collided each
other near the stadium.
(A) with (B) into
(C) over (D) at

188.. He must his bad habits,

if he wanis to join us.
{A) giva away {B) give In
(C) gwve (D) give up

180, You mustadapt yourself

your new surrouggdings.

(A} In (B) by

(C) with D) tw
Directions (Cs. 191 to 193) : In these

questions, out of the four alternatives choose
the one which can ba subslituted for the

given words/sentence.

191. One who cannot read and write
(A) Deaf (B} Dumb
(C) literate (D) Blind

182, One whose wite is dead
(A} Widow (B) Widower
(C) Cetibata (D} Divorcee

183, One who believes in God
{A) Secularist (B) Autocrat
(C) Agnostic (DY Theist

Ai-
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Directions (Qs. 194 1o 196) : In these
questions, choose the word opposite in
meaning to the given word,

194, - SEIZE

(A} Suppress (B) Cwigbrate

(C} Release (B} Promisa
185. BLEAK

(A} Brown (B) Secret

{C) Calm (D). Bright r

" |

196. WORTH

{A}) Usaless iB) Familiar

{C) Wonderful (D) Harmiess

197. Rhyming word to 'Soon’ is
{A) Gun (B) Can
(C) Moon (D) Plan

198. "The river Ganga is held to be the
most sacred of all the rivers.” — Give
the positive degree of the above.,

(A) Very few rivers are held io be as
sacraed as Ganga

{(B) River Ganga is held to be more
sacred than any other river

(C) Mo other river is held to be as much
sacred as the river Ganga

(D} None of the above

199. “Sagar performed the Yajna and
handed over the kingdom to
Anshuman.”

The above sentence is a
(A) Simple sentence

(B) Complex sentence
(C) Exclamatory sentence
(D) Compound sentence

200. Plural of "mouse” |8
(A) Mouses (B) Mice
{C) Mouse (D) Mone of these




